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The graph shows average weekly income and expenditure for different types of households.
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Which of the following statements is supported by the data in the graph?

(A) The more children in the family, the greater is the houschold expenditure.
(B) Household expenditure is greater with two children than with three children.
(C) The cost of having a first child increases household expenditure by one-third.

(D) The higher the income, the greater is the likelihood of three children being in the
family.



Question 6 : % answers correct by band range
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